
(Papers) SSC Junior Engineer Exam Paper ­ 2016 "held on 02 March 2017 "Morning Shift( General
Awareness)

QID : 951 ­ Hydrochloric acid in the stomach provides the acidic pH of ________ which is optimal for pepsins.

Options:
1) 3.8

2) 1.8

3) 5.8

4) 7.8

Correct Answer: 1.8

QID : 952 ­ ____________ are the most abundant cells (60­65 per cent) of the total White Blood Cells.

Options:
1) lymphocytes
2) neutrophils
3) basophils
4) monocytes

Correct Answer: neutrophils

QID : 953 ­ In which type of flower the gynoecium occupies the highest position while the other parts are situated below it?

Options:
1) perigynous
2) epigynous
3) hypogynous
4) tetramerous

Correct Answer: hypogynous



QID : 954 ­ Through which part of the leaves plants lose maximum water?

Options:
1) stomata
2) cuticle
3) parenchyma
4) xylem

Correct Answer: stomata

QID : 955 ­ Consider the following pairs:

Name : Formula
1] Propan­2­ol : CH3CH2CH2CH2CHO
2] 1­Bromo­2,2­dimethylpropane : (CH3)3CCH2Br
3] Methanal : HCHO
4] Pentanal : CH3­CH(OH)­CH3

Which of the above pairs are correctly matched?

Options:
1) 2 and 3 only
2) 1 and 3 only
3) 3 and 4 only
4) 2 , 3 and 4 only

Correct Answer: 2 and 3 only

QID : 956 ­ What is the IUPAC name of n­Propyl fluoride?

Options:
1) Dichloromethane
2) Trichloromethane
3) 1­Fluoropropane
4) 3­Bromopropene

Correct Answer: 1­Fluoropropane

QID : 957 ­ Formula for 1,3 butadiene is_____.

Options:
1) CH2=CH­CH=CH2
2) CH3­CH=CH­CH3
3) CH2=CH­CH2­CH3
4) CH3­CH=CH­C2H5

Correct Answer: CH2=CH­CH=CH2

QID : 958 ­ Which of the following elements has the highest atomic number?

Options:
1) Lead
2) Tin
3) Germanium
4) Silicon

Correct Answer: Lead

QID : 959 ­ Which character informs browsers to stop tagging the text (in HTML)?

Options:
1) /

2) .

3) !

4) :

Correct Answer: /

QID : 960 ­ Using the end key in Microsoft Word, processor moves the cursor to the end of the ___________.

Options:
1) page
2) file



3) document
4) line

Correct Answer: line

QID : 961 ­ In which state the Feast of St. Francis Xavier festival is celebrated?

Options:
1) Kerala
2) Goa
3) Assam
4) Arunachal Pradesh

Correct Answer: Goa

QID : 962 ­ The citizens of _______ voted in a referendum to leave the European Union.

Options:
1) Ireland
2) Turkey
3) Italy
4) United Kingdom

Correct Answer: United Kingdom

QID : 963 ­ Who discovered the neutron in 1932 while working at Cavendish Laboratory?

Options:
1) James Chadwick
2) Ernest Rutherford
3) Carl D. Anderson
4) Edmund Becquerel

Correct Answer: James Chadwick

QID : 964 ­ The point at which the budget line just touches, one of the ____________ curves would be the consumer's optimum.

Options:
1) demand
2) utility
3) supply
4) indifference

Correct Answer: indifference

QID : 965 ­ Which of the following is true with respect to SMC (Short run marginal cost) and SAC (Short run Average cost) ?

Options:
1) SMC curve cuts the SAC curve from above at the maximum point of SAC
2) SAC curve cuts the SMC curve from below at the minimum point of SMC
3) SAC curve cuts the SMC curve from above at the maximum point of SMC
4) SMC curve cuts the SAC curve from below at the minimum point of SAC

Correct Answer: SMC curve cuts the SAC curve from below at the minimum point of SAC

QID : 966 ­ A glass factory hires 11 craftsmen by paying each of them Rs 1100 per day. The 12th craftsman demands Rs 1200 per day. If this
craftsman is hired then all other craftsmen must be paid Rs 1200. The marginal resource (labour) cost of the 12th craftsman is ___________.

Options:
1) Rs 100
2) Rs 2,300
3) Rs 14,400
4) Rs 1,200

Correct Answer: Rs 2,300

QID : 967 ­ _______ is the ratio which requires the banks to maintain a given fraction of their total demand and time deposits in the form of specified
liquid assets.

Options:
1) currency deposit
2) Cash Reserve
3) Statutory Liquidity
4) Reserve deposit

Correct Answer: Statutory Liquidity

QID : 968 ­ Net National Product at market prices – Net indirect taxes =

Options:



1) Net National Product at factor cost
2) Gross Domestic Product
3) Gross National Product
4) Personal income

Correct Answer: Net National Product at factor cost

QID : 969 ­ Due to large quantities of nutrients in water an excessive growth of planktonic __________ occurs.

Options:
1) fungus
2) bacteria
3) algae
4) protozoa

Correct Answer: algae

QID : 970 ­ Relative contribution of which of the following green house gases is the most towards total global warming?

Options:
1) Methane
2) Chlorofluorocarbons
3) Carbon dioxide
4) Nitrous oxide

Correct Answer: Carbon dioxide

QID : 971 ­ Radio waves transmitted from the earth are reflected back to the earth by which layer of the atmosphere?

Options:
1) Mesosphere
2) Stratosphere
3) Troposphere
4) Ionosphere

Correct Answer: Ionosphere

QID : 972 ­ Which of the following is a characteristic of the Subtropical Steppe type of climate?

Options:
1) No dry season
2) Low­latitude semi arid or dry
3) Severe winter
4) No true summer

Correct Answer: Low­latitude semi arid or dry

QID : 973 ­ Which of the following is the son of Shiva and Mohini and was also called as Shastha?

Options:
1) Ganesh
2) Subramanya
3) Ayyappa
4) Pashupati

Correct Answer: Ayyappa

QID : 974 ­ With reference to the interior of the earth and earth quakes consider the following statements.

1] The earth's crust is brittle in nature.
2] The direction of vibrations of S­waves is parallel to the wave direction.
3] Surface waves are considered to be the most damaging waves.

Which of the statements given above is / are correct?

Options:
1) 1 and 2 only
2) 3 only
3) 1 only
4) 1 and 3 only

Correct Answer: 1 and 3 only

QID : 975 ­ The tectonic plate _________ is located between the Philippine and Indian plate (North of New Guinea).

Options:



1) Fuji
2) Nazca
3) Caroline
4) Cocos

Correct Answer: Caroline

QID : 976 ­ Our solar system consists of the sun (the star), 9 planets and ________ moons.

Options:
1) 43

2) 23

3) 83

4) 63

Correct Answer: 63

QID : 977 ­ Which of the following is a sedimentary rock?

Options:
1) shale
2) granite
3) slate
4) marble

Correct Answer: shale

QID : 978 ­ Bajra is cultivated in Northern Indian States during the __________________ cropping season.

Options:
1) Rabi
2) Kharif
3) Zaid
4) Winter

Correct Answer: Kharif

QID : 979 ­ With reference to India's freedom struggle consider the following statements.

1] Entrepreneurs, such as G.D. Birla opposed the national movement openly.
2] On 26 January 1930, "Independence Day" was observed.
3] The Dandi March ended on 6 April 1930.

Which of the statements given above is / are correct?

Options:
1) 2 and 3 only
2) 3 only
3) 1 and 3 only
4) 1 only

Correct Answer: 2 and 3 only

QID : 980 ­ _________ (14­37 CE), the second in the long line of Roman emperors, was the adopted son of Augustus.

Options:
1) Constantine
2) Heraclius
3) Tiberius
4) Gallienus
Correct Answer: Tiberius

QID : 981 ­ Prabhavati Gupta was the daughter of ______ (c. 375­415 CE), one of the most important rulers in early Indian history.

Options:
1) Chandragupta II
2) Sri Gupta I
3) Vishnu Gupta I
4) Samudra Gupta

Correct Answer: Chandragupta II

QID : 982 ­ Francois Bernier, a Frenchman was associated with the Mughal court, as a physician to Prince Dara Shukoh, the eldest son of Emperor
______.



Options:
1) Muhammad bin Tughlaq
2) Bahadur Shah
3) Shah Jahan
4) Humayun

Correct Answer: Shah Jahan

QID : 983 ­ The twelfth century witnessed the emergence of a new movement in Karnataka, led by a Brahmana named Basavanna (1106­68) who was
initially a Jain and a minister in the court of a ___________ king.

Options:
1) Chola
2) Chalukya
3) Maurya
4) Gupta

Correct Answer: Chalukya

QID : 984 ­ Who is known as the founder of psychoanalysis?

Options:
1) Louis Pasteur
2) Gregor Mendel
3) Sigmund Freud
4) James Chadwick

Correct Answer: Sigmund Freud

QID : 985 ­ Consider the following pairs:

Event : Time interval ( in Seconds) 
1] Period of light wave : 10­15
2] Wink of eye : 101
3] Time period of a satellite : 104
4] Revolution period of the earth : 107

Which of the above pairs are correctly matched?

Options:
1) 1 and 4 only
2) 1, 3 and 4 only
3) 2, 3 and 4 only
4) 1,2 , 3 and 4

Correct Answer: 1, 3 and 4 only

QID : 986 ­ Time period of a simple pendulum, where L is length of the pendulum and g is acceleration due to gravity, is ______.

Options:
1) 2π√(g/L)
2) 2π(L/g)2
3) 2π(g/L)2
4) 2π√(L/g)

Correct Answer: 2π√(L/g)

QID : 987 ­ Wavelength of Infrared waves is smaller than _____.

Options:
1) Visible light
2) Ultraviolet rays
3) X­Rays
4) Radio waves

Correct Answer: Radio waves

QID : 988 ­ An object is placed at 20 cm in front of a concave mirror and the image is formed at a distance of 30 cm from the mirror, find the focal
length of the mirror. 

Options:
1) 10 cm
2) 15 cm
3) 12 cm
4) 8 cm

Correct Answer: 12 cm



QID : 989 ­ The A quasi­federal form of government of the Indian Constitution are borrowed from the ______________ constitution.

Options:
1) Irish
2) United States
3) British
4) Canadian

Correct Answer: Canadian

QID : 990 ­ Which of the following countries follows the "First Past the Post" electoral system?

Options:
1) Israel
2) Netherlands
3) UK
4) Denmark

Correct Answer: UK

QID : 991 ­ Bhutan is still a _____________.

Options:
1) Dictatorship
2) Monarchy
3) Theocracy
4) Republic

Correct Answer: Monarchy

QID : 992 ­ The People's Republic of China was founded in 1949, following the ______ revolution under the leadership of Mao.

Options:
1) socialist
2) democratic
3) fascist
4) communist

Correct Answer: communist

QID : 993 ­ In the Indian Constitution, as per Fundamental Rights, Prohibition of forced labour is a __________.

Options:
1) Right to equality
2) Right to freedom of religion
3) Right against exploitation
4) Right to Constitutional remedy

Correct Answer: Right against exploitation

QID : 994 ­ Who is the first Formula One motor racing driver from India?

Options:
1) Pankaj Advani
2) Pullela Gopichand
3) Dhanraj Pillay
4) Narain Karthikeyan

Correct Answer: Narain Karthikeyan

QID : 995 ­ Who wrote the novel "A Passage to India"?

Options:
1) Salman Rushdie
2) Edward Morgan Forster
3) Jonathan Swift
4) Daniel Defoe

Correct Answer: Edward Morgan Forster

QID : 996 ­ Octopus belongs to which animal phylum?

Options:
1) Arthropoda
2) Mollusca
3) Annelida
4) Porifera

Correct Answer: Mollusca



QID : 997 ­ Bones have a hard and non­pliable ground substance rich in calcium salts and ________ fibres which give bone its strength.

Options:
1) cartilage
2) fibroplast
3) macrophage
4) collagen

Correct Answer: collagen

QID : 998 ­ At 73 metres, which of the following is the world's tallest rubble masonry minaret?

Options:
1) Big Ben Clock Tower
2) Leaning Tower of Pisa
3) Sri Ranganathaswamy Temple
4) Qutb Minar

Correct Answer: Qutb Minar

QID : 999 ­ Which of the following is a famous Indian singer?

Options:
1) Amrita Sher Gil
2) Satish Gujral
3) Bhimsen Joshi
4) Sonal Mansingh

Correct Answer: Bhimsen Joshi

QID : 1000 ­ All of the following are recipients of the Bharat Ratna, except _______.

Options:
1) Bhimsen Joshi
2) Bismillah Khan
3) Ravi Shankar
4) Mohammed Rafi

Correct Answer: Mohammed Rafi




